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PART - A
ANTONYMS

Directions :

Each item in this section consists of a sentence with an underlined word followed by
four words. Select the option that is opposite in meaning to the underlined word and

l.

mark your response on your Answer Sheet accordingly.

He nodded absently throughout the
meeting.

I fully believe that the cornerstone of
good policy is an electorate that is
educated on the national issues.

4. Planets move in their orbits.

(a) push
(a) capably
(b) rotate
(b) alertly
. (c) stall
(c) agitatedly
foctely (d) flow
(d) dreamily

Temperature is a measure of internal
energy of an object and is frequently
expressed by physicists in units of
Kelvin.

(a) rcerebral (a) found

(b) enlightened ®) told

SN . () distributed
(d) erudite

For important medical decisions, even
finding a doctor you trust is not
enough.

KJU-F-GTA - B o
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_(d) concealed

6. People argue about why Venus is so

much warmer than the Earth.

(a) significant (a) friendlier
(b) trivial (b) colder
() basic () wilder
(d) probable (d) heavier




/
7. Scientists are concerned whether the

oceans and land biosphere will take up
as much carbon in the future as they

presently do.

(a) worried
- (b) indifferent

(c) curious

(d) puzzled

8. The biggest debate among scientists
today is about cloud feedback.

(a) contend
(b) moot
(c) wrangle

(d) agreement

10. The oceans carry a huge amount of

9. The Earth’s climate = sensitivity is

conventionally defined as the equili-
brium temperature increase caused by
a doubling of carbon dioxide.

(a) imperviousness
(b) willingness
(c) responsiveness

(d) closeness

heat from the tropics to the high
latitudes.

(a) significant
(b) major
(c) tiny

(d) dormant

ORDERING OF WORDS IN A SENTENCE

Directions :

Each of the following items im this section consists of a sentence(s), the parts of which
have been jumbled. These parts have been labelled as P, Q, R and S. Given below each
sentence are four sequences namely (a), (b), (c) and (d). You are required to rearrange the
jumbled parts of the sentence and mark-your response accordingly.

11. several yearé ago, course on climate chhnge at Texas A&M University

P

Professor Andrew Dessler created an inti‘oductory for freshmen and sophomores

R
(a) ‘PRQS
() QRPS
(c) SQRP
(d PQRS

S

B - KJU-F-GTA
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12. 1 realize that solving the climate change problem than solving will be much harder

. P Q R
the ozone depletion problem ;
S
(a PRQS
() QRPS
(c) SQRP
(d PQRS

13. although the temperature of this layer of the ~when directly comparing the satellite

® Q
measurements of temperature
R
atmosphere should generally track the surface temperature, we must be careful
3 :
(a PRQS
() PSQR
(c) SQRP

(d PQRS

14. the element heats up, eventually reaching high temperatures

P Q
glowing like a dark orange that radiates the viéible range,
R S
(a) PQSR
(b) QPSR
(c) SQRP
(d PRSQ
KJU-F-GTA - B 4
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15. two people argue about why Venus is so much warmer

P
to the Sun, so it absorbs more solar energy. The second argues
Q _
that it’s because Venus has a thick, greenhouse-gas rich atmosphere
jo R

than the Earth. The first argues that it’s because Venus is closer
: S

(@ PSQR

(® QRPS
(c) SQRP
(d PQRS

16. are now used by more than a thousand firms and are growing in popularity

P Q
in the United States and Europe  gain sharing-plans
R S
(a PRQS
(b) QRPS
() -P RSQ

d SPRQ

17. adversity without succumbing to the clouds of doubt and jealousy

P Q
between friends which is subjected to both prosperity and
R
the essay ‘ Of Friendship’ by Francis Bacon celebrated the intimacy
S

(a PRQS

() QRPS

(c) SRPQ

(d PQRS

5. B - KJU-F-GTA
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18.

19.

20.

friends without which the world is make friends and a person wills to want true
e Q
it is miserable solitude that compels a person to
R

nothing other than a place of wilderness
: S

(@ PRQS
(b) QRPS
(©) RQPS
(d PQRS

takes the longest that never started the job to finish :
P Q R S

(a PRQS
() RQPS
(c) SQRP
(d PQRS

to what you can create  control, shift your energy instead of worrying about
P Q R
what you cannot
S

(a PRSQ

(b) QRSP

(c) SQRP

(d RSQP

SYNONYMS

Directions :

Each item in this section consists of a sentem;e with an underlined word/words followed
by four words. Select the option that is nearest in meaning to the underlined word
and mark your response on your Answer Sheet accordingly. ;

21. She got the divorce within no time. 22. He was known for his gentle dis-
(a) detachment posiiee.
(b) breaking down (8 M
e (b) amiable
(c) annulment (c) cunning
(d) punishment ' (d) adjusting
KJU-F-GTA - B 6




23. The harder we kick, the better the ball 27. He was too cunning for her.
bounces back.

i : (a) capable
a) recoils
(b) fit
(b) deflates
(c) intelligent
(c) inflates
(d) dodgy
(d) ascends

28. This decision is crucial for me.
24. I plan and execute.

(a) momentous
(a) desire

(b) natural
(b) debate

. (c) primitive
(c) .accomplish .

(d) inept
(d) discard
29. The media went into a frenzy about the
25. He listened to me with equanimity. case.
(a) carelessly (a) silent
(b) excitedly (b) creative
(c) patiently : : (c) berserk
(d) half-heartedly : (d) wrong
26. The Whole thing was a futile exercise. 30. He has been yearning to go home.
(a) costly (a) declining
(b) pointless : (b) demanding
(c) indecisive (c) begging
(d) successful (d) hankering

7 B - KJU-F-GTA




PREPOSITIONS

Directions :

3.

Each item in this section has a sentence with a missing preposition. Select the correct
preposition from the given options and mark your response on your Answer Sheet

accordingly.

Simulations of the 20th century by
climate models that exclude the
observed increase greenhouse

gases fail to simulate the increase in

32.

33.

34.

3s.

temperature over the second half of the
20th century.

(a) of
(b) in
() by
(d) to

In extremely poor societies, children
can be put to work a young
age and are therefore a source of
income.

(a) in
(b) on
() by
(d) at

People who are averse hard
work, generally do not succeed in life.

(a) to
(b) about
(c) at
(d) on

I have known her
(a) since

(b) for

(c) at

(d) before

a long time.

I accepted the offer certain
conditions.

(a) on

KJU-F-GTA - B
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36.

37.

38.

39.

40.

(b) in
(c) by
(d) within

She is a woman
(a) off

(b) of

(c) from

(d) within .

_____humble origin.

There is no cure the common

cold.

(a) for
(b) of
(c) to
(d) on

I ran John yesterday, and it
was a pleasant surprise.

(a) by

(b) off

(c) beside

(d) into

My grandmother enjoyed boating
the lovely lake.

(a) in
(b) on
(c) beside
(d) within

He visits the needy to relieve them
their sufferings and poverty.

(a) from

(b) off

(c) of

(d) on




SPOTTING ERRORS
Directions :

Each item in this section has a sentence with three underlined parts labelled as
(@), (b) and (c). Read each sentence to find out whether there is any error in any
underlined part and indicate your response on the Answer Sheet against the corresponding

letter i.e., (a) or (b) or (c). If you find no error, your response should be indicated
as (d). ;

41. This building comprises of six houses, three parking lots and one basement.
(@ (b) S
No error.

(@

42, 1look forward tomeet you. No error.

(a) (b) © @

43, lcannot copeup with this pressure. No error.
(a) (b) S (- (d)

44, 1came to this place by walk. No error.

(a) (b) (©) @

45, Whatis the time in your watch? No error.

(a) (b) g ()

46. The price of my dress is higher than that of yours. No error.
(a) (b) (© (d)

47. My friend’s daughter-in-laws have come. No error.
(@ (b) © (@

48. 1prefer seafood than Mediterranean food. No error.
(@) (®) © (d)

49, We were discussing about the issue. No error.

(a) (b) (© @

50, Dispose off the garbage from the shelves. No error.
(a) (b) (©) C)

9 B - KJU-F-GTA
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§1.

AT-B

frafafaa # & form o @ =1 feem,
s AT ST R 7

 (a) WATEHEARET

52.

(b) A=A
(c) utfemfimn
(d) @ Q9 FEer

wurEt FfY e awen (PMKSY)
¥ "oy o feafafea & & 9 w/a
99 T ¢ /8 ? |

1. PMKSY # &3ma 2015-16 &
R Fi T oAt

2. PMKSY & 9 380 & — ©al de
vt 1 siferes wdT @ s

3. PMKSY & U& Wq@ 929 & — &d
W R) fi=r #§ fRwt & sfimro
(affem) =t we S

¥ Ry T g = W@ W E W
T :

(d) 1,23R 3

KJU-F-GTA - B

53.

RA & fau™ F =98 79 & JIER,
frafafaa # & R/ w/a &
HHS & s WA & &9 ¥ afviq fomar
3

1. e |7
2. 9 |91

3. WRA &1 Tgafd

ﬁ%ﬁ&ﬂq@mmaﬁa@w
gfa -
(a) ¥&d 1

~(b) %A 13K 2

54.

(c) aet 2 3K 3

(d 1,23K 3

YHaNig ASHT Teell SR Fal € H T
ot ? ‘
(a) ==

(b) USSR

(c) WA

(d) g™

55, TAOET g &1 e R g9aWig

Frorn # wfefea fomam wa ar 2
(a) =t g=ENig QST
ORIEEIREELERIEL

(c) B3 THaEia AT

(d) |radi Yuavia Fem
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PART - B

51. New Zealand is considered part of 53. According to Article 79 of the
which one of the following island Constitution of India, which of the
groups ? following is/are described as a part of

Parliament of India ?

(a) Micronesia
1. The House of the People

(b) Melanesia 2. The Council of States
(c) Polynesia 3. The President of India

(d) Hawaii Island chain Select the correct answer using the
: code given below :

52. Which of the following statements (a) 1 only
with regard to Pradhan Mantri Krishi
Sinchayee Yojana (PMKSY) is/are (b) 1 and 2 only
correct ? _
(c) 2 and 3 only
2015-16
2. The basic aim of PMKSY is to 54. The Five Year Plan was first launched
enhance physical access of water ™
o (a) China
3. One of the main objectives of (b) USSR
PMKSY is to achieve convergence ' ‘
of investments in irrigation at the (c) India
field level
(d) Bhutan

Select the correct answer using the

code given below : 55. The call for Garibi Hatao was
incorporated in

(a) 1 only

: (a) Fourth Five Year Plan

(b) 1 and 2 only (b) Fifth Five Year Plan

(©) 2 and 3 only (c) Sixth Five Year Plan
(d 1,2 and 3 ‘ _ (d) Seventh Five Year Plan
11 B - KJU-F-GTA
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56.

T 1w g 18 gafaa S eR

gt F 99 A T g W W W
H’@Wﬁﬁﬂ:

LRl Ll
(7@ Sevm)  (eaEiE A@rern)
A dER @ afis 1. gge!
wrasht afg .
B. diaeR, sfts 3. TREd
ol R

o 4, IEEt
c.fimfamgg @

JAH FEGE W

BN HAT (FERAT)
D. 3reR fasiar wmw

AT
|e:

A W gD
(a) S R L
(b) R TR
(c) - SR
d - S S il

57.

Prafafea # @ o @ frys fg

(FrRes ) dfem. (42af &we)

afufemm, 1976 R et /@ a1 ?

(a) T4 A A IEEE@ES B OFA
Fm

(b) I T AT T LA AT

(c) TEHKI WS H qALHA

(d) UEIARH STETEEdT S@-WIe 6l
BIECIE]

KJU-F-GTA - B
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58.

59.

60.

2 a1 Afts T=al & ol T wE o=
e e fFes gra f oS
qEHdl ® ?

(a) EE GRT UIRA T&H H GRI

(b) YR & U@ WA & TF
. HTRY TR

(c) W%W%@a@rw

@) A ¥ Sum § o e g
aﬁls;zsi’r,amﬁ%maﬁaﬁtqmaﬁr&f
X aRa & ol = dfdum = wEa

AR fan | 7w afufa $i srerean e
oAt ?

(a) WETHAT e
(b) &. =it |y
(c) AT AEE

(d) TETEAT A%E

waure fie & R #, f=afofea & @
P a1 g e ® ?

(a) ¥ Gfeum @ & @qe &
(b) S nfeare werawr &
I

(c) ¥ Ueelt WRAE TP TR TH F

wuE o

(d) S=M B & fd, & e
T &1 AW Feman




56. Match List I with List II and select the
correct answer using the code given

57.

@

below the Lists :
List I List II
(Major (Five Year
Objective) Plan)
A. Faster and more 1. First
inclusive growth
B. Faster, more 2. Fifth
inclusive and
sustainable growth 3. Eleventh
C. Correction of
disequilibrium 4. Twelfth
caused by Second
World War
D. Aftaining
self-reliance
Code
At S R
(a) 3 1 4 2
(b) 3 4 1 2
(c) - 4 1 3
2 1 4 3

Which one of the following Directive
Principles was inserted by the Consti-
tution (42" Amendment) Act, 1976 ?

(a) The State shall minimise inequa-
lities in income

(b) Equal justice and free legal aid

(c) Promotion of
societies

co-operative

(d) Provision for early childhood
care

13

58. A common High Court for two or

59.

more states can be established by
(a) a law passed by the Parliament

(b) an order of the Supreme Court of
India

(c) an order of the President of India

(d) an amendment to the Constitution
of India

In the year 1928, a committee of
Congress leaders drafted a Constitution
for India. The Committee was headed
by

(a) Mahatma Gandhi
(b) T. B. Sapru
(c) Motilal Nehru

(d) Jawaharlal Nehru

. Which one of the following statements

about Jaipal Singh is NOT correct ?

(a) He was a member of the Consti-
tuent Assembly

(b) He founded the Adivasi Maha
Sabha

(c) He was the captain of the first
Indian national hockey team

(d) He campaigned for a separate state
of Chhattisgarh

B - KJU-F-GTA
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61.

62.

63.

v & @i ¥ CRER AR
27

(a) Tadw &9 & &= &t it v @ g
&) T

(c) TH & & 9

(d) e Fa1 3 At W fean @ o

am™H

faya wiea R=w, 2019, 6t fawgasg,
forforfaa & & = & 7

(a) e (duwoim) wded

() Wem Rk fefem w@m
(ufEd=)

(c) Tdea : oErg uitadw ft A
& wiafsan

(d) wea 3R Nafar (Itw) : wft &
forg © JeeR Wl

frafofes & & foem 3w 3 &= (3@
¥91) W@ TSENTR, 2019 I
Irarem ferar 2

(a) =

(b) =
(c) FTiREaT (Femfaear)
(d) feftam (fefifseam)

KJU-F-GTA - B

64.

65.

fpaforfaa & ¥ foeg 3w =t ot AT
frea”’ (Tarait &1 3W) FeT T ® ?

(a) WRA
(b) ==
(c) 3THTH
(@) st

Prafifaa § ¥ 99 @1, KA THR F
R g et (anEfefew) femr
. g ey

(a) ST SRR (IEREEiTt)
fawm

- (b) W wEew e (@ ®

66.

fean)
(c) wra Hiewm fammr fawmr

(d) DRDO

‘Tdm-se-a U fousim @frsw
AT & | ge FHEE WK IR TR s
WwEHdTgn e ?

(a) HYH 3RS FHR

(b) ™

(c) QY IR

(d) =M
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61. What is ‘Tikki Mausi’ in the context of 64. Which one of the following countries

Malnutrition ? : is called the ‘country of winds’ ?
(a) A specially packaged food item (a) India
(b) A mascot ;

(b) China

(c) Name of a scheme
: (c) Denmark
(d) Name given to the healthcare

providers @ G .
62. Which one of the following was the
theme of the World Tourism Day, 65. Which one of the following is the
20197 oldest scientific department of Govern-

ment of India ?

(a) Sustainable tourism
(a) Department of Biotechnology
(b) Tourism and the digital transfor-

— (b) Survey of India
(c) Tourism : responding to the ;

challenge of climate change (c) India Meteorological Department
(d) Tourism and jobs : a better future (d) DRDO

for all

63. Which one of the following countries 66. ‘Naseem-Al-Bahr’ is a bilateral naval

has hosted the Army Exercise exercise between India and
TSENTR, 2019 ?

(a) United Arab Emirates
(a) Russia

: (b) Iran
(b) China
(c) Kazakhstan (c) Saudi Arabia
(d) Kyrgyzstan (d) Oman
15 B - KJU-F-GTA
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67.

68.

69.

FrE g, Frafafea # ¥ fra 3= &
e faemst € 7

(a) FHaTSH (fRT)

(b) 2= 2fE

(c) ws (39)

(d) fafeasa

[ Fear g9 A, 2020 (Yo I
7aT @, 2020) & ATEIRE YHIR,
freafafaga & & = ar a1 ?

(a) v

(b) FmaT

(c) =

(d) =

SEdt 2020 #, |A H qeE & W
G fomm oo ¥ W & @ 9% &
arft fomm e (%) g, fores
IR THA 170 AW WR W | T8
argar frafafea # ¥ foea a1 2

© (a) HR TEEAS

70.

(b) Th FEAYAA TAATSH

(c) TR TR«

(d) 2 ifafrs

MILAN, U& sgusia Hdfrs s,

2020 freafafes # @ fom sex &
o femam mar ar ?

(a) UE =W
(b) =t

(c) Tasmarae=
(d) worstt

KJU-F-GTA - B
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71.

72.

73,

74.

afear (3%) IR @R, Feafafea
Y fres i sa € 2

(a) %%mm@mmaﬁz

(b) Ffcaawm FEie

(c) Hfdwmm it

(d) ®ifeaw wmEe

N @ (d) § s @ s
wer faadt gt 8 7

(@ 2

(b) 8

(c) 18

(d 32

fora (FAwR) FT s A =T R ?
(a) TS e (v¥Es TfR)
(b) 7rsfes e

(c) TvHgfa Ufre
(d) eéfa e

foret g3 1 9 & T SE | @1 I
2 %9 @YW TR @K § IER W
IR o" F gay ¥, Frafafea § @
S G UH YT el © 7

() TE, dERK F MUR F HEEA W

iR sare |
(b) T, 3@ W f I | foR
AT

(c) T, 5@ ¥ W R PR 78 a=an
R ,

(d) T, 7 A oK F YR & SHABA
RiR =R, T aaw f
Fars = fsk avar @
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67.

69.

Koneru Humpy excels in which one
of the following sports ?

(a) Boxing

(b) Table Tennis

(c) Chess

(d) Billiards

Which one of the following was the

official mascot of Khelo India Youth
Games, 2020 ?

(a) Vijaya

(b) Yaya

(c) Rongmon

(d) Ammu

In January 2020, a passenger aircraft
crashed in Iran soon after taking off

from Tehran’s Imam Khomeini airport
killing about 170 people onboard. The

- airplane belongs to

70.

(a) Qatar Airways

(b) Ukraine International Airlines

(c) Singapore Airlines

(d) Cathay Pacific

MILAN, a multilateral naval exercise,

2020 was hosted by which one of the
following cities ?

(a) Port Blair

(b) Kochi

(c) Visakhapatnam
(d) Panaji

17

71.

72.

73.

74.

Chalk and marble are different forms
of

(a) Calcium hydrogen carbonate
(b) Calcium carbonate
(c) Calcium acetate

(d) Sodium carbonate

The number of maximum electrons in
N Shell is

(@ 2
(b) 8
) 18
@ 32

Vinegar is also known as
(a) ethanoic acid

(b) nitric acid

(c) sulphuric acid

(d) tartaric acid

A liquid is kept in a glass beaker.
Which one of the following statements
is correct regarding the pressure
exerted by the liquid column at the
base of the beaker ?

(a) The pressure depends on‘ the area

of the base of the beaker

(b) The pressure depends on the

height of liquid column
(©

The pressure does not depend on
the density of the liquid

(d) The pressure neither depends on
the area of the base of the beaker

nor on the height of liquid column

B - KJU-F-GTA
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75.

76.

77

78.

& T F WA (AR Tg) & wey
#, frafafe # & 9= o1 w97 a8 7
?7?
(a) &&fy T& al F B R T &
(b) At TG ar A BER R qEHAT §
(c) =fi a6 TeTa & TR TR et
§ | :
(d) =fy 76 fafa ¥ S R g
g

qTeATE Sgeme (WE) wei HarRd

22

(a) F=
(b) TR
(c) WERTS
(d) e

7. 3w fafra w P (2000) %

g S W Wdww ¥ 9,
frafafea & & @ @1y o1 o
27

(a) fran

(b) A=

(c) SreteET

(d) T & At

FO T GOR WY /weE, fea a9
R AT TR ?

(a) Fom TQ

(b) T &

(c) Mgradt w5t

(d) =R TGt

KJU-F-GTA - B
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79.

80.

81.

82.

Frafafea & & <7 a1 wrda =1, @
Fruar e I F w1y siaidg d
I AT AE AT ?

(a) JEUTEA W

(b) rEw

(c) T

(d) Brga

WRA Ht FEOET, 2011 F FER, WK

¥ Prafafes Tsat 3 ¥ 9 @1 w T
FATH ATHATG! AT TG © ?

(a) HERTSE

(b) e wew

(c) sifesm

(d) dorTa

SE A ST ¥ Sear, R
w71 gfRErt & gefta € ?

@

(b)

(c) ¥R

(d) =:

atiech % weamrg 1 At () P
&9 & el o (Rl $) o 2

(a) I8

(b) aféor srshivent

(c) TR rfreET

(d) WRa
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75.

76.

77.

78.

Which of the following statements is
NOT correct regarding the travel of
sound waves ?

(a) Sound waves can travel through
water

(b) Sound waves can travel through
air

(c) Sound waves can travel through
steel

(d) Sound waves can travel through
vacuum

Deendayal Port is located at

(a) Kerala

(b) Gujarat

(c) Maharashtra

(d) Goa

Which one of the following cities is

associated with Biosafety Protocol to

the Convention on Biological Diversity
(2000) ?

(a) Geneva

(b) Nairobi

(c) Cartagena

(d) Rio de Janeiro

Krishna Raja Sagara Dam/Reservoir is
developed on

(a) river Krishna

(b) river Tungabhadra

(c) river Godavari

(d) river Kavery

19

79. Which one of the following Indian

states does NOT share international
border with two or more countries ?

(a) Arunachal Pradesh

* (b) Assam

(c) Mizoram

(d) Tripura

80. According to Census of India, 2011,

which one among the following is the
least populated state in India ?

(a) Maharashtra
(b) Madhya Pradesh
(c) Odisha

(d) Punjab

81. The speakers of major Indian lan-

guages belong to how many language
families ?

(@ Two
(b) Three
(c) Four

(d) Six

2. Where did Gandhiji initiaﬂy forge the

techniques of Satyagraha ?
(a) England

(b) South Africa

(c) North Africa

(d) India
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83.

84.

85.

TS & e AN & WG, "R &6
qEETT HE AT ?

(a) «iE A

(b) i femferam

(c) s Tfsw

(d) =te fafemrea
frafafas & 3 7 @ w @i
AR 9fyer, st % gEl ' %
AR H FRY A Fgq ey 9, feg
& GHIE & Wik € I e T
We ¥ sgd ot IR TF wWEH IR
TqoEaT & &9 # st &1 e
feeam 2

(a) 2 zafmr g

(b) T=d T

(c) <r=H

(d) «TEH

Frafafaa # & fFa ad #, Sefs & aeht

oA (ermdt) s Y e o 2
(a) 1823
(b) 1825
(c) 1848

(d) 1861

KJU-F-GTA - B
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86.

87.

88.

89.

ferelt et gdor < agrar Broar R @
Rrwa g H e e R

() R= f

(b) R = 2f

(© R=13f

(d) R = 4f

&= & T Rrema # a6 SR @ g
TS g AN ARdfad AR F S
ez g | W o sror A gar @ ?

(a) W H GG
(b) WY T WA
(c) W & YA
(d) TS T g (geeReon)

T qaet fireelt & € wenyr A9 #
WAy wa | 3@ Tl @ own @
AT R ?

(a) e
(b) wifdan
(c) Terelt
(d) smsfE

9 i @ AW Fa g, Tew gd &

| WY W WEgH W FA & forg et

TR &= & frow &1 swEn a2
(a) & @t T

(b) &g W=

(c) ATFAF YA

(d) TH. THAR




83.

8S.

Who was the Viceroy of India at the
time of Gandhiji’s Dandi march ?

(a) Lord Irwin
(b) Lord Linlithgow
(¢) Lord Reading

(d) Lord Willingdon

Which one among the following
American newsmagazines was highly
sceptical of Gandhiji’s Dandi march
initially but within a week completely
changed its opinion and saluted him as
a Saint and Statesman ?

(a) Saturday Evening Post
(b) Readers Digest
(c) Time

(d Life

In which of the following years
were passenger trains introduced in
England ?

(a) 1823
(b) 1825
(c) 1848

(d) 1861

21

86. The correct relation between the radius
-of curvature R and focal length f of a
spherical mirror is '

@ R=f
(b) R=2f
() R=3f
d R =4f
87. A lemon kept in water in a glass

tumbler appears to be larger than its
actual size. It is because of

(a) reflection of light
(b) scattering of light
(c) refraction of light

(d) polarization of light

88. Light enters the eye through a thin

membrane called
(a) retina
(b) cornea
(c) pupil
(d) iris
89. Name the scientist who first used a

glass prism to obtain the spectrum of
sunlight

(a) C. V. Raman
(b) Lord Rayleigh
(c) Isaac Newton

(d) S. Chandrasekhar
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90. T& 3t wefifer (XfpoRex) =i
10 w2 wfafem 30 femt & fog od &
® 5kW R (feh) @1 S9ERT aRar
2, = ufefoa = (3em) & fog
Fl & B
[fear war ® f& wfd kW.h o=t &1 99K
(@) = T 4]

(a) ¥ 600

(b) ¥ 6,000
(¢) ¥ 1,200
(d) ¥ 1,500

91. T=dE &9 & gay # frAfafaa # &

HIF AT A Ge wEr € 7

(a) T & v T & for i Ran
3R i 2 §

(b) T & @Y H9d

T (TS
wd) Bt € :

(c) = &% 3@ G a5 (aﬁﬂ#

) gt ®
(@) = st o g=FE &7 W @
R F AL Fet
frafafas & & 9 a1 =99 @€ 78
1
(a) afFfiRgeda se = T

HIET §
(b) T fagm 1w sr=eT 9w ©
(c) Frze famga 1w =21 =9 ©
(d) ¥z #, wE FET AN A=
F AT GRS A [T BT §

KJU-F-GTA - B

92.

93. FRwA sy Fme snfeas &=
© CH,CI ®, ¥ fran weaant srEy B
g7
(a) 6
(b) 8
(c) 9
(d) 10

94, et @ =1 waifys wifas sifhee,
frafrfeaa dasmar g ?

96. foret o it v wefy, feafafea 3
Afrh s F AT F R A & ?

(a) o TFET AR WieiHAT Hr FEa
&

(b) Faw WiehHT AR el it @

(c) Fae ToEEE! AR EHl & we
*

(d) ZEgEl, WeF sk ~ggm 6
& &

22
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90. The cost of energy to operate an
industrial refrigerator that consumes
5 kW power working 10 hours per day
for 30 days will be
(Given that the charge per kW.h of

energy = ¥ 4)
(a ¥ 600
(b) ¥ 6,000
(©) ¥ 1,200

(d) ¥ 1,500

91. Which one of the following statements

regarding magnetic field is NOT
correct ?

(a) Magnetic field is a quantity that
has direction and magnitude

(b) Magnetic field lines are closed
curves

(c) Magnetic field lines are open
curves

(d) No two magnetic field lines are
found to cross each other
92. Which one of the following statements

is NOT correct ?

(a) Buckminsterfullerene is an allo-
trope of carbon

(b) Diamond is a good conductor of
electricity

(c) Graphite is a good conductor of
electricity

(d) In graphite, each carbon atom is
linked to three other carbon atoms

23

93. How many covalent bonds are present

in a Chloropropane molecule having
molecular formula, C,H,Cl?

(@ 6
(b) 8
© 9
@ 10

94. Which one of the following is the most

fundamental
element ?

characteristic of an

(a) Melting point
(b) Atomic number
(c) Colour

(d) Atomic weight

95. Neutrons were discovered by

(a) James Chadwick
(b) Ernest Rutherford
(c¢) J.J. Thomson

(d) John Dalton

96. Atomic mass of an element is equal to

the sum of number of

(a) electrons and_protons on_ly

(b) protons and neutrons only

(c) electrons and neutrons only

(d) electrons, protons and neutrons

B - KJU-F-GTA
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97.

98.

99.

frafafea # @ 99 ¥ ™ a9 W

woeTfs, $ER & IR § g e

AT R ?

(@ RfaA
(b) WraTee
(c) wifemm
(d) ImaEH

TR Star f fRafa #& sfaies
(anfire) v sk srafirgt = Frafia
w1 A, freafafea # & @9 @ Fifie
3R e feet from v @ 2

(a) wTFEEE
(b) ar (3
(c) Tt T
(d) draget Sferant

frafofaa 3 @ 99 w1 vt 9 F
(SH) T W TF 919 (TF & ' H)
2 Igar Afte wEel ST B agfa
aftfa sar 8 ?

(a) FES T (1T AeUH)

(b) fufa waa (freee wifdm)

(c) IAR-FEA (TETHIT)

(d) fifa &h (e wififr)

KJU-F-GTA - B
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100.

101.

102.

fomopet (amRE) W wisfes

(Gramafes qansil) & wwEl & R #,

e iasm o R ad & ?

(a) arexm ‘‘seitfam (Fsfia)”” sfers
%, frg ¥ vlichampet & @™
e fear (3@ frn) =
o ©

(b) Ufamfer v & fwmp wswEwAor
& IIER BT § '

(c) aTEE JuTq=At 9E ¥ Ieh A€ e
g fm w wfeeiany @ &< @
€, Safes Sdifar § @ aE & 9y
Bd

(d) wfersfamgst & wfs arwe wfh
LG

auflﬂatﬁ@aﬁnﬁmﬂst,%&

Sredt 8 7

(a) WS §FR 3R A GFR

(b) 3ewifess weWER R Afafes
HEETR

(c) fee wemER 3k ufrs wermmR

(d) ufgfes arr iR S anR

wgh g F 51 AR () "el

GRT 1945 ®, €Ywh TSg AT (FATSE
AN IIR) Fel W gwagia e
q7 ? :

(a) &1 THEA

(b) ¥ET gHEA

(c) & wifeen a e
(d) =fefa wem
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97. Which one of the following element’s

isotope is used in the treatment of
cancer ? '

(a) Uranium

- (b) Cobalt

(c) Sodium

(d) Iodine

~ 98. Which one of the following cell

organelles may play a role in expelling
excess water and wastes in case of
unicellular organisms ?

- (a) Lysosome

(b) Vacuole

(c) Golgi body

' (d) Endoplasmic reticulum

99. Which one of the following terms

describes the practice of growing two
or more crops simultaneously on the
same piece of land ?

(@) Crop rotation
(b) Mixed cropiaing
(c) Intercropping

(d) Mixed farming

100. Which one of the following statements

is correct about effects of antibiotics on
viruses ?

(a) Viruses are “non-living” entities
but it can interact with antibiotics

(b) Taking antibiotics cures viral
infections

(c) Viruses do not possess metabolic
pathways on which antibiotics can
function, whereas bacteria have
such pathways

(d) Viruses are resistant to antibiotics

101. The Panama Canal opened in 1914,

links

(a) Red Sea and Mediterranean Sea
(b) Atlantic Ocean and Pacific Ocean
(¢) Indian Ocean and Pacific Ocean

(d) Adriatic Sea and Black Sea

102. The United Nations Charter was signed

by 51 original members of the United
Nations in 1945 at the

~ (a) Hague Conference

(b) London Conference
(c) San Francisco Conference

(d) Berlin Conference

B - KJU-F-GTA
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- 103.

YR § AR W T Y-Tiea Afrerar A
yftr-yarr @ foram =it & @ier @ ?

(a) 6
(b) 9=

(e) 15

104.

105.

106.

(d) 217af

wRa # g qf S g I el
o diftm &, sef anf 2t @

(@) 100 cm & &8

(b) 85cm ¥ FH

(c) 80 cm¥ FH

(d) 75cm¥ FA

qga‘ra'mlﬁa %ﬂﬁ%aﬁh'@ﬁ%m,
ot 8 & uoa SO 8 (F9 &)

&1 fraen e e & sl g
=ifeg ?

(a) 10 wfasra an siferes

(b) 20 wfwa ar sfire

(c) 25w an siferes

(d) 30 Wi ar sifer

frafafes & & @9 @ =, wwiE
HETERR o AE € ?

(a) Sﬁwﬁﬁtm

(b) SETERT TR

KJU-F-GTA - B
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107.

108.

109.

(c) eETH 4T ‘

(@) Fformrffan axa

ARa § wga H safy, steaa e
¥ for forarfa 2t @ 2

(a) 80-140 T

(b) 100 -120 f&m

(c) 90-130F=

(d) 100 - 140 &=

frafifaa ¥ ¥ 9w @ =, g gl
i it wrpfos awefa @ ?

(a) S gt wQTavii @

(b) I Hfesiea gt wRmel 77
(c) IO wfeaHa ofurdt &

(d) efiers wgauli @

frafafaa # F $7 @ u, Fiee diwA
fare (ofta v wam) ® 7

(a) ¥er T
(b) o=
(c) firega

(@

g —



103. Land Revenue Records maintained in (c) Agulhas current
India have categorized land-use into 7 :

(d) California current
(a) 6 categories

(b) 9 categories 107. The duration of monsoon in India
- extends for an average period of

(c) 15 categories

. (a) 80-140 days

(d) 21 categories

(b) 100-120 days

104. Dry land farming in India is largely

confined to areas with rainfall less than (c) 90-130 days

(a) 100 cm (d) 100-140 days

(b) 85 cm 108. Which one of the following is the
80 natural vegetation of South east

(c) 80'cm China ?
75

@ i (a) Subtropical broadleaf evergreen

| forest
105. For an area to be excluded from
the drought-prone category, what (b) Tropical broadleaf evergreen
percentage of its gross cropped area forest

should be under irrigation ?

- (c) Tropical deciduous forest
a per cent or more

) S e it (d) Temperate evergreen forest

(c) 25 per cent or more 109. Which one of the following is a cold

local wind ?
(d) 30 per cent or more
(a) Santa Ana
106. Which one of the following is NOT a -
current of Pacific Ocean ? (b) Chinook
(a) Opyashio current (c) Mistral
(b) Alaska current (d) Loo

B - KJU-F-GTA
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110. st # RO GAT (B AETEE) &

faearht Sl (WA deerie) &
it (werE) T 91 ?

(a) Fafew dw et 9 7 @ o
#i sty o & forg swiiert 3 g
st sk Sem TR

(b) &t (dw) TRl & o wE A
ﬁr@rsh%gﬁa:amm,vﬂ&iﬁ
st f&fa = woEm wwm #
HHAAT 9Tt

() Wa (feamt) w= ffvsa o

A (SE) W & IROTHEET

Torem wgg (§99) €¢

iRt W Frdieomers (Td3E)
frem wm ¥ g St g
e H T FeEedt () F;
el dEtE e (SeR) #
FAHA B T

(d)

111, Towed & § Trim-§ =g w= A ?

@) 4 = = famm e
e T @ @ ik f@
grmat s (wfasn)  aqfe
afim forar mar an

(b) wEramE 6 g st il = @
g & @t & fog o

(c) Tfewr zemmr (fir) st <% &=
(wrr) fufer & forg fafea an

(@) Fraifa fR @ et Ft enfia
FA ¥ fw sew & ™ (@ &
)

KJU-F-GTA - B
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112.

w7 1857 & foge & an #, fe=fafea
¥y AT TR R ?

(a) T& TSI, AGEl R ATIHGRE

TR dEuHgEs  wEfem SR
i frar o o fige o

 (b) 3@ ke ¥ Iww BN (IFA) K

113.

114.

$em § arwarel R wirsarfow
$ =ré gftre 7€t @ ;

(c) 18573 fagie dumsit gRY srraTSt
F asft ol & S ofa 3R 99
(wrfra) W am feg fam, a/ER
srdfer <t Tl

(d) FafeEi w s & sk smEr @
. forEw a) am # fafew awe ©

frafafaa & ¥ 9 @1 U, g=aite &1
forgia wét an 7

(a) wifagl we-sfe

(b) o sEE ¥ g aRERE
g

(c) T frame (v wfew)
(d) Al AwEl # AR
frafafeas & & feam, 1904 4,

wifqeial €t TF W qasd ()
Afira wa w3y 6 o8 7

(a) GaRm

(b) TSl oo
(c) @™

(d) =N, & "EER

Downloaded from www.cclchapter.com




110. What was the consequence of Perma-

nent Settlement on rural society in
Bengal ?

(a) The zamindars invested capital
and enterprise to improve agricul-
ture along lines of British yeoman
farmers

(b) A group of rich peasants known
as jotedars succeeded in consoli-

dating their position in the villages

(c) The ryots prospered as a result of
fixed revenue levy imposed on

them

(d) The system of Collectorate
introduced by the Company for
exercising supervisory control on

zamindars failed to take off

111. What was Damin-i Koh in Rajmahal

area ?

(a) A large area of land demarcated
and declared to be the land of the
Santhals

The land of the Paharias cultivated
exclusively for paddy

(®)

The British territory marked for
their military camp

(©)

The land earmarked for locating
settled agriculturists

(d)

29

112.

113.

114.

Which one of the following statements
about the Revolt of 1857 is correct ?

(a) It was a Revolt carefully organised
and planned by the Rajas, Nawabs
and Talugdars

(b) Rumours and prophecies did not

play any role in its outbreak and

spread

(c) The rebel proclamations in 1857

repeatedly appealed to all sections

of the population irrespective of
their caste and creed.

The British succeeded in quickly
and easily controlling the rebels

@

Which one among the following was
NOT a Panch Sheel principle ?

Peaceful Co-existence

(a)

(b) Mutual respect for territorial
integrity

(¢c) Nuclear deterrence

(d) Non-interference in internal affairs

Who among the following had

organised, in 1904, a secret society
of revolutionaries named. Abhinav
Bharat ?

(a) Khudiram Bose

(b) Shyamji Krishna Verma

(c) Har Dayal

(d) V D Savarkar
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115.

116.

117.

7 fugia & @ wRa & R =&
dfyam @ daR W e (I
s ) @ (W) wWrdEr #

frdet ot wifeg, weelt WK
frfefaa & ¥ fre v # &iwR &
T ?

(a) ¥Ra w&R Afafaw, 1935
(e witw sfear T, 1935)

(b) arzEE fomfaam &1 e weE
(3rTR)

(c) T weama

(@) Ffeame faam
Frafafaa % @ @ w1 ©, &l FATE
# e W@ wataRoia w9 R ?

(a) 3 GGV (SFF THT)

(b) S vt soran (Reeram)

(c) st fenefiaror (sraandon)

(d) FEETSATHIT

frafafes & & a7 @1 wa e

ARR T91 Fe GFR & 9 (W)
feat?

(a) STHYE
(b) FTEFaEA
(c) Ifm (TIE)
(d) TEES (TogH)

KJU-F-GTA - B
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118

frafafea # ¥ fF afedt = snferr,
goeeh ok wow o fga aRarTg
(erz R W) fawfem Ht wh

AN

119.

120.

(a) STe TET Ao
(b) = T ey
(c) TEt '
(d) Faa WA=

Hanvew fod (Frem) & =9 #,
frafafes & & 99 @/8 w99 @@
| V4 B
1. Shramvee frea & R & geema
UNESCO gIT 1973-74 % & 7§ 4t
2. ARa & 18 AR Stamves fr=a
= | |
3. 9RG & wW Sawea  fem

UNESCO & Sanvee fea &
faya Jeas # wifie Ry 7 ¥

Y A T e F WM W TG ITNK
fa

(a) & 1

(b) ¥E« 2

(c) ¥ae 132

(d 1,233

Frafafaa & & <9 & 30 &6, w5/
HEWER % Woa@ Ted (srfiw) et
g7

(a) wifar

(b) €

(c) IvRESH

(d) smfaaT




115. The principle that the framing ' of
the new Constitution for independent
India should be primarily (though not
solely) the responsibility of Indians
themselves, was for the first time
conceded in the

(a) Government of India Act, 1935
(b) August Offer of Viceroy Linlithgow
(c¢) Cripps Proposals

(d) Cabinet Mission

116. Which one of the following is a
major environmental issue in eastern
Canada ?

(a) Acid precipitation
(b) Groundwater depletion
(¢) Land degradation

(d) Desertification

117. Which one of the following mountains
lies in between Caspian Sea and Black
Sea ?

(a) Caucasus
(b) Carpathians
(c) Apennine

(d) Elburz

118. Bagalihar, Dulhasti and Salal hydro

119.

120.

power projects have been developed on
which of the following rivers ?

(a) Chenab and Jhelum

(b) Chenab and Indus

(c) Ravi

(d) Chenab only

Which of the following statements

with regard to Biosphere Reserve
is/are correct ?

1. The idea of Biosphere Reserve
was initiated by UNESCO in
1973-74

2. There are 18 designated Biosphere
Reserves in India

3. All Biosphere Reserves in India
have been included in world
network of Biosphere Reserves
of UNESCO

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(¢) 1 and 2 only

(d 1,2 and 3

Which one of the following countries

does NOT have direct access to the
sea/ocean ? Y

(a) Syria

(b) Jordan _
(c) Azerbaijan
(d) Armenia

B - KJU-F-GTA
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121. T A9 e oo #, o & g e

122.

123.

oTg 1 S BT § ?

(a) Tffem

(b) =

(c) ¥

(d) =t (W)

3 s v R w9 o 9
Far 12V A @ b W @A &

afta: (IRAR) & |1 100 mA R TH
de ORT 3@ IR9Y ¥ TR TEd §, S

fop = eufar W ® -
n iR, )
100mA | ::R:: 3
e

R& AF 1§ ?

(@) 120 Q

(b) 240 Q

(c) 60 Q

(d) 100 Q

frafafea & @ =7 W T, I W
s AR ® ?

(a) ST (Joule)

(b) dfe-¥eT (Watt-hr)

(c) “gea-HieT (Newton-metre)

(d) fep.am.-iet/q%vs®  (kg-metre/

sec?)

KJU-F-GTA - B :
Downloaded from www.cclchapter.com

32

124.

125.

126.

ﬁwﬁaf@aﬁ%aﬁﬂmm‘ﬂ@?ﬁ
L 5

(a) 9% Wl (32 wPn) I H E
ot @ 2

(b) MR g T Jeafed e R S
Mex, wE FERE, dEEiis
yafire ok e a (W @) B
stediom @ srufeafy # safea
e foan st @

(c) s (Safy) #1 I A/
T TE T WG R R

(d) "EdE (S f|) 6t qauE qEd

g 9 Bt @

mafes sl #, fieia &1 &

it g1 o o A R W
st (afifera) afeha & @
fra &1 3 S ST @ ?

(a) il

(b) Fw (JfFER)

(c) ¥ (FfFsneE)

(@) FRmm ()
frafufes ¥ & A ¥ T S ¥ 79
g Bt € 7

(a) ST (srfnf)

(b) Fgw (Fwre)

(c) HiA=hTEAT (FATaH)

(d) FEr |




121.

122.

123.

In an incandescent electric bulb, the
filament of the bulb is made up of
which metal ?

(a) Aluminium

(b) Copper

(c) Tungsten

(d) Silver

Two equal resistors R are connected
in parallel, and a battery of 12V is
connected across this combination.

A dc current of 100 mA flows through
the circuit as shown below :

il
ik | R Y
|
—
12V

The value of R is

(a 120 Q

(b) 240 Q

(c) 60 Q

(d 100 Q

Which one of the following is NOT
the unit of energy ?

(a) Joule

(b) Watt-hr

(c) Newton-metre

(d) kg-metre/sec?

124. Which one of the following statements

is NOT correct ?

(a) Biomass is a renewable source of
energy

(b) Gobar gas is produced when cow-
dung, crop residues, vegetable
waste and sewage are allowed to
decompose in the absence of

oxygen

(c) Biogas generation reduces soil and
water pollution

(d) Heating capacity of biogas is very'
low

125. In prokaryotic organisms, nuclear

region is not surrounded by a
membrane. This undefined nuclear
region is known as

(a) Nucleic acid

(b) Nucleoid

(c) Nucleolus

(d) Nucleosome

126. Which one of the following plant

tissues has dead cells ?
(a) Epidermis

(b) Parenchyma

(c) Collenchyma

(d) Sclercnchyma
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127.

128.

129.

gufer (wdfr), frfoafea # & e
3 Wt g S ® ?

(a) &3 (A=)

(b) Tt (A1)

(c) &H (a“ﬁ)

(d) A

A I g wa (red) @ f;
i & €, et 9% s@ S B
R,=RIRR,=4RFEHT I TS
IR} AR SAF AEdSE (FAE) H
FITE (T,/T,) BRI

(@) 1/16

(b) 1/8

) 1/4

(d 1/2

ws aifcs ar e v\ 20Q ¥
= wwarg § o swer fewdt # wrer W@
2 | qavEE T fewdt @ iR # e
T R | W GERR (EEERR) S
1 vl e SR ® ?

(a) 20Q

b) 10Q

() 5Q

S (d) 15Q

130.

us GHE dwan oy R quiean
wWadE adqe | weEd frar €1 AR
HaE &1 S e & foar 9,
o fafesor = & smen

(a) QT
(b) 3meEn

(c) IR AT
(d) T =tars
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131.

132.

133.

aeE Y a 9e s B w wfafes
AT &, T ST © ?

5 Magnetic field
>

———
—_—
i

s v el gedE e d WS
T (TP TR) WA wAT §, S
f5 T oufar W | WER | &
F a1 o feam SRl

frfifaa & ¥ 9 @ wF w0, @R
FIRA TR AR R ?

(a) W1 St =T B e 7 et it
=T ¥ IR aEd @

(b) waft TG Ioed aat €
(c) =f adt smed o €

(@) UF g H g # g ()
- arg # e dga & Fordl @
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127.

128.

129.

130.

Cartilage is NOT found in

(a) larynx

(b) nose

(c) ear

(d) urinary bladder

Two planets orbit the Sun in circular
orbits, with their radius of orbit as

R; = R and R, = 4R. Ratio of their
periods (T,/T,) around the Sun will be

(@ 1/16
(b) 1/8
(c) 1/4
(d 1/2
A metallic wire having resistanée of

20Q2 is cut into two equal parts in
length. These parts are then connected

in parallel. The resistance of this

parallel combination is equal to

(@ 20Q

(b) 10Q

) 5Q

d 15Q

Light of uniform intensity impinges
perpendicularly on a totally reflecting
surface. If the area of the surface is

halved, the radiation force on it will
become

(a) double
(b) half

(c) four times
(d) one fourth

131. The part of the human eye on which

the image is formed is
(@) pupil
(b) cornea
(c) retina

(d) iris

132. Consider the following image :

Y

Proton
—tn
i

3 Magnetic field
e

AL,

A proton enters a magnetic field at
right angles to it, as shown above. The
direction of force acting on the proton
will be

(a) to the right
(b) to the left
(c) out of the page

(d) into the f:age

133. Which one of the following statements

about sound is NOT correct ?

(a) Sound travels at a speed slower
than the speed of light

(b) Sound waves are transverse waves

(c) Sound waves are longitudinal
waves

(d) Sound travels faster in moist air
than in dry air
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134.

135.

136.

137.

magw(aniaﬁz)'cﬁmﬂﬁﬁ
ot 8, aftag & a)a

(a) Y A Wl ®

(b) foR = &t ®

(c) vafy &9 & w5t ©

(d) e & & Rafda gt
?

frafafas # @ 99 @ &, AFE |

WorA O I T WE ¢ 7

(a)m(aﬁﬂ)

(b) I (i)

(c) A (Fee afere)

(d) YHaTES (W ITHA)

foreferfam # & @ &1 O, Safafasa

3 o BN F FRT A © 7

(a) &3 T W a9 werd (ferenor)

(b) o IUA F qEA

(c) fer IuaHt w1 TEE@E

(d) @ &t # sfeseror (q@egT)

frferfea 3 & @ a1 T, o

& FRO AE © 7

(a) @AY

(b) =1 H Tl

(c) S srcafies A & et
(d) =2 daT R Fhie waAl @ i
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138.

139.

140.

141.

frfufaa # @ 99 & waR & fafeo
$ ot gER S (Fgaw) o
3

(a) g&| T (ATHHIEA)

(b) FaH (FHE)

(c) 3T W&IT

(d) TFa-ferm

ferelt aftaa 3 forgm g 6 sufeafa =

qar & & T wges R s aren
JIERT B

(a) IqEATHATI

(b) FeaarHIEx

(c) waramaTd (faemrfamTdt)
(d) feradmmmdt

frafafaa § @ 99 @1 U, ARG F
TR w91 9eS (FAifoeE) ® ?

(a) HTeA IFATFAES

(b) A& (+H13)

(c) T

(d) TTEZIH TR

wtgn ok g ¥ wwa § §f 9=
(zoerw) feard 2am @ | wfieht #, 7

e N g W ae d ke W
for fordiar &, a1 et € ?

(a) EELD]

(b) qoi sl wrada
(c) wehuiq

(d) =afaam
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134. When the short circuit condition 138. Which one of the following types -

occurs, the current in the circuit of radiations has the smallest wave-
length ?

(a) becomes zero
(a) Microwaves

(b) remains constant
(b) Infra-red

(c) increases substantially
(c) Visible light
(d) keeps on changing randomly

(d) X-rays
135. Which one of the following is NOT a ¥

component of human male reproduc- 139. The instrument used for detecting

tive system ? the presence of electric current in a
circuit is

(a) Cervix

; (a) Refractometer
(b) Urethra

(b) Galvanometer

Seminal icl
© ¥ i (c) Viscometer

(). Yandiagmns (d) Diffractometer

136. Which one of the following is NOT a

reason of decrease in biodiversity ? 140. Which one of the following is the

largest composition in biogas ?

(a) Large scale deforestation () Claibons bt

(b) Exploitation of forest produce (b) Methane
(c) Maintaining sacred groves (c) Hydrogen
(d) Encroachment in forest areas (d) Hydrogen sulphide

137. Which one of the following is NOT a 141. The Sun appears reddish during sunrise
cause of depletion in groundwater ? and sunset. The phenomenon in optics
which is responsible for this appear-

() “Mtonesmtion ance of the Sun is

(b) Loss of forests @) Reflection

(c) Excessive pumping of ground- (b) Total internal reflection
water
J (c) Scattering
(d) Construction of large scale con-
crete buildings (d) Interference
37 B — KJU-F-GTA
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142.

143.

144.

UE dE f gEar +2.0 IR R |

frafafaa # & a7 @1 w99 99 & SR

Hadt e ?

(a) ¥ sraae & 3R SEh W g
0-5 Hiex ?

(b) @ STe ¥ R SER wEE gl
2.0 Hiex ®

(c) d& 3@ ® 3R Swh W gl
0-5 Hiex &

(d) o\ g § R SHH B
2.0 i '

T 70°C W WA AE-wEhe
wite Iuwed (Raiem) =1 o wefifa
A R, N W AR IARI & ™Y
IFERT AT © | |ifeaw S-FEHe
¥ = 9N & fou eErR swe
I ?

(a) STeA STEATHATES

(b) eI |

(c) W arsq

CREIEGIER

HR Gehe, Wfeaw Feie sk fraw
#, foreeem-vi1 & srvpeit it we @

(a) ¥ 5,10 3R 2

(b) WA 10,295

(c) s 5,23R 10

(d) F\: 2, 57K 10
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145.

/

146.

147.

148.

VWG T W A T & g R
g A TWE o IH A i S €, @
T & weem 1 wel A ffaRaa
Y o e ® ?

(a) el —TerTsit — e

(b) e — wTer — e

(c) e — S — e

(d) e — e — TTeret

fism oof sk DDT & =W #&
foafefaa # & @ a1 T @@ & 2
(a) T srTeten e € ‘

(b) 2 e A E

(c) T & FAKA Bt B

(d) 3t ¥ Hmw B
fraffaa § & A @, o Y W
o afear Serew ® 7

(a) Taferar S=

(b) uifereersda

(c) wifemw w=iEe

(d) wifsawm wEiAe

frafafea # & = & afiw soa
G gad ved gl At ?

(a) WERIR 3
(b) TTEGIFAIRE e
(c) wsfeeh st

(d) wreniRe =
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142.

143.

144.

A lens has a power of +2:0 Dioptre.
Which one of the following statements
about the lens is true ?

The lens is concave and has a
focal length of 0-5 metre

(a)

The lens is convex and has a focal
length of 2-0 metre

(®)

The lens is convex and has a focal
length of 0-5 metre

(c)

The lens is concave and has a
focal length of 2-:0 metre

d

At nearly 70°C, sodium bicarbonate

shows the property of gradually
decomposing, which makes it usable

in bakery products. The product of
decomposition responsible for this use
of sodium bicarbonate is

(a) Carbon dioxide

(b) Hydrogen

(c) Water vapour

(d) Oxygen

Number of molecules of water of
crystallization in copper sulphate,
sodium carbonate and Gypsum are
(a) 5, 10 and 2 respectively

(b) 10, 2 and 5 respectively

(¢) 5, 2 and 10 respectively

(d) 2, 5 and 10 respectively

145.

146.

147.

148.

Which one of the following is the
correct sequence of change in colours
when a turmeric stain on white clothes
is scrubbed by soap and then washed
with water ?

(a) Yellow — pink — blue

(b) Yellow —reddish brown — yellow
(c) Yellow —reddish brown — blue
(d) Yellow — blue — pink

Which one of the following statements

regarding Bleaching powder and
D.D.T. is correct ?

(a) Both are inorganic compoundsr
(b) Both are organic compounds
(c) Both contain chlorine

(d) Both contain calcium .

Which one of the following is the best
example of desiccant ?

(a) Silica gel

(b) Polystyrene

(c) Sodium chloride

(d) Sodium carbonate

Which one of the following was the
first mineral acid discovered ?

(a) Sulphuric acid

(b) Hydrochloric acid

(c) Nitric acid

(d) Phosphoric acid
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149, Tofaa Twfesd (FAEH) &1 AUSATH 150. U& JEqa odur & f&fy #, afy fad

1-46 1 oW & S 177 ® | a5 W g0 F qeT A F AR gAPH
afg Fdw # yEw f AW v, R K o= # @ R, A wiafersr & SR #
Hrom # wawr A oW v, & @ frafafea & @ @9 @1 & R &
frafafea & @ o9 @1 & d9y w@ wE R ?
ur (a) wiafers sameft g
(@ vq>vg

(b) witfersr =@ o sman smafia
(b) vs>vy B
s L | (c) whifes sm=a W =
@ v,=2 (d) whferar e grm
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149. The refractive index of fused quartz is

1-46 and that of sapphire is 1-77. If v,
is the speed of light in quartz and v,
is the speed of light in sapphire, then
which one of the following relations is
correct ? :

(@ vg>vq
®) v,>v,

(c) vs = vq

@ Vo=

41

150. In case of a concave mirror, if an object

is kept between principal focus F and
pole P of the mirror, then which one
of the following statements about the
image is NOT correct ?

(a) The image will be virtual

(b) The image will be enlarged or

magnified

(c) The image will be formed at
g inﬁnity

(d) The image will be erect
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